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(1) WHEHIZREX ~ (o, \), WIXFFEEERIER e, cX ~ , B(X)=
(2) SHFHEERa >0, Hm # n, WE(m,n) 8 2o 1805 F (n, m) 8 205050 R A -

(3) 24T (a, \)FIPDF 4 IR R A

(4) WX1,..., X, AR BIESEAEN (0, 0?) FiidFEAR, WK T o2 UER T 22 T 5A4: , 2[FIUMVUE

(6) WX, ... X R E AR N F (2) iR, R AT REON F (o), WIREFAER 2, BIF, ()]
Var[F,, (z)]=

= MREEGIERE (7NN, 3Es0am)
(7) (1253) ¥ X1, Xa, ..., X, &R BB DAU(0, 0) FidBEA, Hrho > 0 RMSH

(a) SROMIMLE;
(b) Bk FIAMLEA RS 5E& SR, FHKOFUMVUE.

(8) (109)) BX1,..., X, KRBT E(N) s BIT (A, DIHREA, sK1/ARIZKE R — ol B F AR,

(9) (123)& X1, Xo, -+, Xn AR AN (p, o) FHAFEAR, Y7, ... YV, AR BN (p, 03) ildFEAR, BRI, Ko, 038
B4, RufTUMVUE K&K — o) EfF X E].

(10) (1291 BEX1, Xo, -+, X, ISREPDFEA f(x,60) = 02°71(0 < 2 < 1) HiidBEAR, Hdo > 0. 4T(X) = — 31, log(X;) /n.
K —log(X,)HIPDF, FHIEMHTR /00 RAht.

(11) (125 RBENLZ B X A KT st Bk, WREPDE f(2)i2: f(u+2) = fp—2). IEH:

(a) WXHIBATRT XK, WEX) = s
(b) WXy, -, X, J R ARKSFREARIG AR, BB = a IR, WA E S AT Z MK,

(12) (124%) W Xa,..., X, AR BPareto3 M lidFEAR. WT(X) = [[I_, X,;. WEH: 2a(logT — nlogh) ~ x*(2n).
(Pareto3 AT FIPDFA : af®z~ @tV 4.

(13) (048X, ., X, WK B X WidbEAR, BECC)ETE, IHEW: — 2 0 X B0 KRt



